The circuit shown in FIGURE 3 is part of the interface of a relay
output module. [, is 1 mA and V- is 9 V. The relay requires a

minimum of 50 mA to energise.

Complete the values of the assumptions listed below in order to

calculate:

voltage across R,

. value of R,

. voltage across the relay coil
*  voltage across R,

. value of R,

. collector of current /_.

Assumptions:

Logic'l' = \%

Logic'0' = \Y%

Transistor forward current gain kg, =
LED current = 10 mA
LED voltage dropat I0 mA = V
Base/emitter voltage = V

Collector emitter voltage when transistorison = 1V

External
Terminals

&
-
:

-

Logi i
gic
Logic, — :—@)

0 volts

FIG. 3



